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= 6,890

202 (4 Hi 5,000 5,000 0
= 4,000
o= 1,000

01 2| 5,000 5,000 0
OXAHE2INEEENM XK= 5,000
= 4,000
& 1,000

308 KX SIS0l A 74,890 73,470 1,420
= 69,000
& 5,890

01 AXIEMBAERS 74,890 73,470 1,420
OXHECIXNSEA=HN SEHY| 74,890
= 69,000
== 5,890

g= A=A 5,500,000 0 5,500,000
= 5,500,000

308 AAXIHMSOIA 5,500,000 0 5,500,000
= 5,500,000

01 AXIEMBAERS 5,500,000 0 5,500,000
Og s = MAY 5,500,000
= 5,500,000

s H HAE 22 100,700 0 100,700
= 100,700

201 LBt HAH| 3,000 0 3,000
= 3,000

01 At 22|l 3,000 0 3,000
Ogsga=M A& 3,000
= 3,000

202 044 2,000 0 2,000
= 2,000

01 2] 2,000 0 2,000
Ogdsga=M &XIXE 2,000
= 2,000

308 AXSHAMSOIA 95,700 0 95,700
= 95,700

01 AXIEMBIAEEZ 95,700 0 95,700
Ogsga=H A 95,700
= 95,700

sHe A K& 2,295,648 2,361,200 65,552

308 KX SISOl A 2,295,648 2,361,200 AB5,552

01 AXIEHBAERS 2,295,648 2,361,200 AB5,552
Osges s X220 2,295,648
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M PLSXH X 1,008,041 1,036,800 £28,759
308 XHXI A S 01 & 1,008,041 1,036,800 128,759
01 KXISHHZA2ES 1,008,041 1,036,800 128,759
Obl LBENH X & 1,008,041
22l BAK &I 432,000 432,000 0
403 XHXI RIS Xt 432,000 432,000 0
01 XIS H 22X 432,000 432,000 0
ORXt2l BANK &% 432,000
CEELH H SRAX 143,353 200,000 56,647
403 XHXIEHRI S KH 0 & 143,353 200,000 56,647
01 MRS X2 2 X 143,353 200,000 156,647
O===2d o 143,353
s4yg o AAN |4 62,000 37,200 24,800
2 50,000
= 12,000
403 XHXIEHAI S Xt 2 62,000 37,200 24,800
=2 50,000
= 12,000
01 XM A2 62,000 37,200 24,800
Os4g # 24N |4 62,000
=2 50,000
= 12,000
WYUSH0| MAET 331,200 192,000 139,200
308 XHXI A S 01 & 331,200 192,000 139,200
PR ENES 331,200 192,000 139,200
OgYSH0| M 331,200
= ASDIE s 1,241,600 7,400,000 A6, 158,400
=2 1,241,600
308 XX £+ S 01 & 1,241,600 7,400,000 /6, 158,400
= 1,241,600
01 XEXIEH M Z &t 1,241,600 7,400,000 6, 158,400
= ASDE O 1,241,600
= 1,241,600
BHYS Al 5Y 5,760 7,200 A1,440
308 XHXI A S 01 & 5,760 7,200 A1,440
01 IXISHAAZES 5,760 7,200 A1,440
O#FYs MIls 5
1 <4002 20% 5,760
BEs TOHEl HE X & 28,000 0 28,000
307 2120l ™ 28,000 0 28,000
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OXFAs T3l HE K& 28,000
=13 ATAY 1,950,000 1,950,000 0
= 1,500,000
= 450,000
403 XHXI EHHI S XH= 0 & 1,950,000 1,950,000 0
= 1,500,000
= 450,000
01 X XIS X &2 & X 1,950,000 1,950,000 0
OsIIH A 1,950,000
= 1,500,000
= 450,000
=018 =Yl 22N 300,000 300,000 0
403 XHXI EHHI S XH= 01 & 300,000 300,000 0
01 X XIS X 2 & X 300,000 300,000 0
OYsIIHE ZHl SSAHY 300,000
HHELMBSZAYHMI 22 432,000 302,400 129,600
403 XHXI EHHI S XH2 01 & 432,000 302,400 129,600
01 RIS K= B X 432,000 302,400 129,600
OYHELHBZEZ AL 23 432,000
AXQM B2AZXI| 22 225,000 0 225,000
403 XHXI SHH S XH= 0| & 225,000 0 225,000
01 XXl B KH2 & X 225,000 0 225,000
OHAM B2AZI| X2 225,000
=xe Nl 176,600 176,625 A25
308 XH X HHI S0 & 176,600 176,625 A25
01 RXISHBASES 176,600 176,625 A25
O==2 MllLs X 176,600
YRS SACSH A 900,000 900,000 0
y] 600,000
= 300,000
403 XHXI EHHI S XH= 01 & 900,000 900,000 0
| 600,000
= 300,000
01 X XIS X 2 & X 900,000 900,000 0
Ogxg HHC KA X2 900,000
y 600,000
= 300,000
SMXE 29 14,200 13,000 1,200
201 LEr2 Y| 13,000 13,000 0
01 At 22l 3,000 13,000 0
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403 Xk XI I S XH2 01 & 275,000 275,000 0
= 150,000
< 125,000
01 RHIXSH =SS 275,000 275,000 0
OFe sLNIREHY 275,000
= 150,000
= 125,000
=HIR2 EX0 KA 750,540 792,064 A41,524
= 428,830
= 321,660
308 X+ XI A S 01 ® 750,540 792,064 A41,524
= 428,830
= 321,660
01 X SHBABES 750,540 792,064 A41,524
OSHIRSENHX ALY 750,540
= 428,880
< 321,660
EYMZH BEAEY 4,129,786 4,534,934 £405,148
= 3,401,000
= 728,786
308 X+ XI IS 01 & 4,129,786 4,534,934 £405,148
= 3,401,000
= 728,786
01 X SHBABES 4,129,786 4,534,934 405,148
OEYMBH 2EAY 4,129,786
= 3,401,000
< 728,786
SIZHIE XA 9,000,000 8,200,000 800,000
= 9,000,000
308 X+ XI &I S 01 ® 9,000,000 8,200,000 800,000
= 9,000,000
01 X SHBAEES 9,000,000 8,200,000 800,000
OKIIZHIZ XA 9,000,000
= 9,000,000
RIIs JIBES AY 997,200 610,800 386,400
308 XX I S 01 & 294,000 0 294,000
01 X SHBAEES 294,000 0 294,000
OF&y MEsN M= X 294,000
403 Xt XI A S XH2 0| & 703,200 610,800 92,400
01 RIXSH =L S 703,200 610,800 92,400
OsMsER =4 252,000
ORISR =4 151,200
OSII=sMEINIE X4 300,000
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S SAXRDL
By =9 A Us
ool AEYsAsY (e a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
308 KX SISOl A 598,000 345,150 252,850
= 460,000
= 138,000
01 AXIEHBAERS 598,000 345,150 252,850
OXBH SAZAY SHAY 598,000
= 460,000
= 138,000
403 XX S S K201 ™ 851,500 1,602,900 AT751,400
& 655,000
= 196,500
01 MIXIEMAZ2E X 851,500 1,602,900 AT51,400
OREE JIBIAIE B2 (SII4I12) 851,500
= 655,000
& 196,500
SO JIISASNRININX ELSAE 1,430,050 1,433,500 N 3,450
& 1,115,500
== 314,550
308 KX SHHSOIA 1,430,050 702,000 728,050
& 1,115,500
= 314,550
01 AXIEMIAEEZ 1,430,050 702,000 728,050
OKIA NZBAEDNEIIINIX ELSAIY 1,430,050
= 1,115,500
= 314,550
NAH KIS AL 1,616,200 0 1,616,200
201 dEt2AH| 212,000 0 212,000
01 AtR2t2| | 132,000 0 132,000
O&AIXZE & |SOFAR ZDAEZ 32,000
OFHEANINE HE 2 1,000p*25,000& 25,000
O=E2=MH 75,000
-E2sg4 141%30,000,000& 30,000
-2 35+%15,000,000& 45,000
03 HAI2HH| 80,000 0 80,000
ORII=sEst: dEA 30,000
O=HME =& Al 50,000
202 o4 Hl 7,200 0 7,200
01 2 7,200 0 7,200
AT =X AN 50,000& x4H *363] 7,200
207 S OH | 45,000 0 45,000
01 ARSI 45,000 0 45,000
ONHKIISAUAL EIHHATA 24
90,000, 000& *50% 45,000
308 AAXIHMSOIA 80,000 0 80,000
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S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- T - = S = o = 0:”/&,% Wsa
01 MIXIEHEBALNEEXS 80,000 0 80,000
O=2U =sE2&AI2 24 20,000,000 *43] *50% 40,000
Ol E2HA2 8 40,000,000& *23] *50% 40,000
401 AlEHI L 24| 1,272,000 0 1,272,000
01 Al&H| 1,203,000 0 1,203,000
OJIE2XA & AAAE A
30,000,000, 0002 *4.01% 1,203,000
03 Al&E2 =2 0HHI 69,000 0 69,000
ONAHKRIsAMAZ =X
30,000,000, 000 *0.23% 69,000
SQIsHMEIMEa HE(U2) 269,000 0 269,000
403 AN XSRS K20l & 269,000 0 269,000
01 MIXSHHAEEX 269,000 0 269,000
ORII=sMEIMES HE 269,000
EtBd=H B SIATHE K& 19,200 0 19,200
403 AR EHSR=20l& 19,200 0 19,200
01 AXEHA=2EER 19,200 0 19,200
OrEtHA=H H S|ATHE K& 19,200
SHMAD|IBLR NS 23,478,250 24,647,099 A 1,168,849
= 10,361,000
Z 10,461,000
= 2,656,250
B 2= & AHS 9,271,000 7,812,000 1,459,000
9,271,000
402 BI2EX 20| M 9,271,000 7,797,000 1,474,000
= 9,271,000
01 812t X228 X 9,271,000 7,797,000 1,474,000
OBHEIHAE A K& 9,271,000
= 9,271,000
NESS2LINEAIS 800,000 500,000 300,000
= 800,000
403 AN XSRS K20l & 800,000 500,000 300,000
2 800,000
01 AMIXIEH =22 X 800,000 500,000 300,000
OXNESBUIHEASE K& 800,000
Z 800,000
St - S S=Y 1,226,250 1,226,250 0
= 1,090,000
o= 136,250
403 AN XISHS K20l ™ 1,226,250 1,226,250 0
= 1,090,000
= 136,250

<o)




2A: s4AEXIA
NB: =g AME 2y
CH9l: mOIAIA|BHE A CLE-LE
M- M- SH2(3H) - NRAY - BHAES e dd T Hos
- i o ) . A =S i S ey &= 04| AFOH U=sa
01 AXIEHXA=2E X 1,226,250 1,226,250 0
Oetg it S A 1,226,250
2 1,090,000
& 136,250
2I|etE AL 5,023,500 6,958,000 A 1,934,500
= 4,465,000
= 558,500
403 M XISHHSAH201 N 5,023,500 6,958,000 A 1,934,500
& 4,465,000
& 558,500
01 AXI &SN A2E X 5,023,500 6,958,000 A 1,934,500
2018 EUIAY 5,023,500
= 4,465,000
& 558,500
=223 XN EelAd 5,845,500 7,218,000 A 1,372,500
= 5,196,000
= 649,500
403 XIS AH201 N 5,845,500 7,218,000 21,372,500
& 5,196,000
& 649,500
01 AtXI &SN A2E X 5,845,500 7,218,000 A 1,372,500
Oli=& ZXHelAd K& 5,845,500
= 5,196,000
& 649,500
A E22lAlE | 1,100,000 0 1,100,000
403 ARSI S X201 & 1,100,000 0 1,100,000
01 X SHA =2 X 1,100,000 0 1,100,000
O2RDA2ANE XS 1,100,000
=298 & -2 XA 212,000 0 212,000
403 XtXI S S X201 & 212,000 0 212,000
01 XIS =S X 212,000 0 212,000
OXlss 8x=2 &l 40,000
OtlEs 842 &l 30,000
OsFXF =2 EH| 50,000
OFd =8 2317 8+2 FH| 22,000
OYs 2412 BHi=2 A 40,000
O40| BldHel B2 A 30,000
R ABY (XA D) 59,661 44,016 15,645
Jl23dl 59,661 44,016 15,645
Jl=23Hl 59,661 44,016 15,645
201 L BH2IH| 18,081 13,776 4,305
01 AFR2H2I b 8,081 13,776 4,305
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